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3. BRICTOTSLENNTHEID https://www.jdoodle.com/ — Let'scode — Python3

@ EARPOER @ HAIN—
print("Hello, World!") import time
@ BLE
numl = float(input("Enter the first number: ")) seconds = int(input("Enter time in seconds: "))

num?2 = float(input("Enter the second number: "))

sum = numl + num2 for i in range(seconds, 0, -1):
print("The sum is:", sum) print(i)
Q = time.sleep(1)
numl = float(input("Enter the first number: "))
num?2 = float(input("Enter the second number: ")) print("Time's up!")
operation = input("Enter operation (+, -, *,/): ")
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if operation == "+": import time

result = num1 + num?2
_n ”

elif operation == "- seconds = int(input("Enter time in seconds: "))

result = numl - num2

elif operation == "*": for i in range(seconds, 0, -1):
result = num1 * num?2 print(i)
elif operation =="/": time.sleep(1)

result = num1 / num?2
else: print("Time's up!")

result = "Invalid operation

print("The result is:", result)




